
70" 
MAX

TV TABLETOP STAND

40kg40kg
VTS-U60

200x200/300x200
300x300/400x200
400x300/400x400
600x400

Assembly Instructions



1

K

7

4b

4a

2

6

1

5

3

A (x1) C (x1)B (x1) D (x2)

E (x2) F (x6) G (x3)
plastic

H
 (x3) metallic

I
 (x7)

J (x4) L (x1)

M8x50 
M-E

(x4)

(x4)
M-F 

(x8)
M-G 

(x8)
M-H

M8x30 
M-D

(x4)

M6x30 
M-C

(x4)M6x14 
M-B

(x4)M5x14 
M-A

(x4)

A

F

B

IH G
L

I
J

M-F

M-A

M-F

M-B

TV

TV

M-G

M-H

M-F

M-C
M-D M-E

M-F

D

D

K (x2)

1

E

32

±35°

2

a cb


